City of Hilshire Village							
2025 City Wide Ditch Regrading and Culvert Cleaning							
Summary of Quotes							
Contractor	Quote Amount						
Experts Underground Solutions	\$52,135.00						
Infrastructure Construction Services	\$120,310.00						
OnPar Civil Services	\$277,560.00						

2025 City Wide Ditch Regrading and Culvert Cleaning **Quote Sheet**

City of Hilshire Village

	Oity of Filestiffe Village				
Regra	de Ditches on Friarcreek Lane				
Iten	Item Description	Unit	Quantity	/ Unit Price	Cont
1	Clean, regrade, and resod existing ditch, complete in place, the sum of:	LF	700	10.32	Cost
	Culvert cleaning to match proposed ditch flowline elevations including disposal of		700	10 -	1,000
2	material removed , complete in place, the sum of:	LF	275	17.00	3,300
Regra	de Ditches on Ridgeley Drive		1 2/0	110	3,200
Item	Item Description	Unit	Quantity	Unit Price	Cost
3	Clean, regrade, and resod existing ditch, complete in place, the sum of:	LF	500	100	Cost 5,000
	Culvert cleaning to match proposed ditch flowline elevations including disposal of	+	- 000	10-	2,000
4	material removed , complete in place, the sum of:	LF	200	12:00	2,400
Regra	le Ditches on Pine Chase Drive		200	110	21100
Item	ttem bescription	Unit	Quantity	Unit Price	Cont
5	Clean, regrade, and resod existing ditch, complete in place, the sum of:	LF	210	10°	Cost
	Culvert cleaning to match proposed ditch flowline elevations including disposal of	+	210	-	4100
6	material removed , complete in place, the sum of:	LF	40	12.00	480
Regra	de Ditches on Glourie Drive	<u> </u>	1 40	1.0	100
Item	Item Description	Unit	Quantity	Unit Price	Cont
7	Clean, regrade, and resod existing ditch, complete in place, the sum of:	LF	1,200	6.00	Cost
	Culvert cleaning to match proposed ditch flowline elevations including disposal of		1,200		1,000
8	material removed , complete in place, the sum of:	LF	425	11.00	4675
Regrad	le Ditches on Guinea Drive		420	11	4,675
Item	Item Description	Unit	Quantity	Unit Price	Cont
9	Clean, regrade, and resod existing ditch, complete in place, the sum of:	LF	1,300	6.00	Cost
	Culvert cleaning to match proposed ditch flowline elevations including disposal of		1,300	6-	7,800
10	material removed, complete in place, the sum of:	LF	300	11.00	3 2AT
Regrac	e Ditches on Bromley Drive	L1	300	П	2,500
Item	Item Description	Unit	Quantity	Unit Price	0
11	Clean, regrade, and resod existing ditch, complete in place, the sum of:	LF	150	Unit Price	Cost
	Culvert cleaning to match proposed ditch flowline elevations including disposal of	+	100	10 -	1,500
12	material removed , complete in place, the sum of:	LF	60	12.00	720.5
dditio	nal Culvert Cleaning			16	100
Item	Item Description	Unit	Quantity	Unit Price	Cost
	8307 Creekstone Lane culvert cleaning to match proposed ditch flowline elevations	101111	Quantity	Office	Cost
13	including disposal of material removed , complete in place, the sum of:	LF	60	12.00	72000
	1302 Frarcreek Lane culvert cleaning to match proposed ditch flowline elevations		- 00	10	100
14	including disposal of material removed , complete in place, the sum of:	LF	60	12.00	720.00
	1007 Ridgeley Drive culvert cleaning to match proposed ditch flowline elevations	+	00	16	100
15	including disposal of material removed , complete in place, the sum of:	LF	60	12.00	7200
ıppler	nental Items	<u> </u>	60	16	700
ltem	Item Description	Unit	Quantity . 1	Unit Dut - T	
1	Cleaning and televising storm sewer at 1025 Glourie Circle, complete in place, the sum	Unit	Quantity	Unit Price	Cost
16	of:	EA	,	2 250	2 2 2 2
		EA	1	4000	2,25 2,25
17	Cleaning and televising storm sewer at Hickory Shadows, complete in place, the sum of:	EA	1	2250	772

#52,135 de Villes
EUS. UL
5/6/25

2025 City Wide Ditch Regrading and Culvert Cleaning

	2025 City Wide Ditch Regrading and Culvert Cl	eanin	g								
	Quote Sheet										
	City of Hilshire Village										
Regrade	Ditches on Friarcreek Lane	1	Π	T	_						
Item	Item Description	Unit	Quantity	Unit Price	Cost						
1	Clean, regrade, and resod existing ditch, complete in place, the sum of:	LF	700	21.00	14,700						
	Culvert cleaning to match proposed ditch flowline elevations including disposal of			15.00	4 125 00						
2	material removed, complete in place, the sum of:	LF	275	15.00	4,125.00						
	Ditches on Ridgeley Drive	1	Π	T	T						
Item	Item Description	Unit	Quantity	Unit Price	Cost						
3	Clean, regrade, and resod existing ditch, complete in place, the sum of:	LF	500	21.00	10,500.00						
	Culvert cleaning to match proposed ditch flowline elevations including disposal of			15.00	2 000 00						
4	material removed, complete in place, the sum of:	LF	200	15.00	3,000.00						
Regrade	Ditches on Pine Chase Drive										
Item	Item Description	Unit	Quantity	Unit Price							
5	Clean, regrade, and resod existing ditch, complete in place, the sum of:	LF	210	21.00	25,200.00						
	Culvert cleaning to match proposed ditch flowline elevations including disposal of			45.00	bob ob						
6	material removed , complete in place, the sum of:	LF	40	15.00	60.00						
Regrade	e Ditches on Glourie Drive										
Item	Item Description	Unit	Quantity	Unit Price	Cost						
7	Clean, regrade, and resod existing ditch, complete in place, the sum of:	LF	1,200	21.00	25,200.00						
	Culvert cleaning to match proposed ditch flowline elevations including disposal of			45.00	0.075.00						
8	material removed , complete in place, the sum of:	LF	425	15.00	6,375.00						
Regrade	e Ditches on Guinea Drive										
Item	Item Description	Unit	Quantity	Unit Price	Cost						
9	Clean, regrade, and resod existing ditch, complete in place, the sum of:	LF	1,300	21.00	27,300.00						
	Culvert cleaning to match proposed ditch flowline elevations including disposal of			4-00	. = 0 0 0 0						
10	material removed , complete in place, the sum of:	LF	300	15.00	4,500.00						
Regrade	e Ditches on Bromley Drive										
Item	Item Description	Unit	Quantity	Unit Price	Cost						
11	Clean, regrade, and resod existing ditch, complete in place, the sum of:	LF	150	21.00	3,150.00						
	Culvert cleaning to match proposed ditch flowline elevations including disposal of			45.00							
12	material removed , complete in place, the sum of:	LF	60	15.00	900.00						
Addition	nal Culvert Cleaning				YUU.						
Item	Item Description	Unit	Quantity	Unit Price	Cost						
	8307 Creekstone Lane culvert cleaning to match proposed ditch flowline elevations										
13	including disposal of material removed , complete in place, the sum of:	LF	60	15.00	900.00						
	1302 Friarcreek Lane culvert cleaning to match proposed ditch flowline elevations										
14	including disposal of material removed , complete in place, the sum of:	LF	60	15.00	900.00						
	1007 Ridgeley Drive culvert cleaning to match proposed ditch flowline elevations			45.00	000.00						
15	including disposal of material removed , complete in place, the sum of:	LF	60	15.00	900.00						
Supplen	nental Items										
Item	Item Description	Unit	Quantity	Unit Price	Cost						
	Cleaning and televising storm sewer at 1025 Glourie Circle, complete in place, the sum			4050.00	4050.00						
16	of:	EA	1	1250.00	1250.00						

Cleaning and televising storm sewer at Hickory Shadows, complete in place, the sum of:

TOTAL = \$112,210.00

TOTAL CONSTRUCTION COST

EΑ

3,500.00 3,500.00

\$120,310.00

on PAR Givil Sawices

2025 City Wide Ditch Regrading and Culvert Cleaning **Ouote Sheet** City of Hilshire Village Regrade Ditches on Friarcreek Lane Item Item Description Unit Quantity **Unit Price** Cost Clean, regrade, and resod existing ditch, complete in place, the sum of: 1 LF 700 7, (00,0 Culvert cleaning to match proposed ditch flowline elevations including disposal of material removed, complete in place, the sum of: 40.00 071.0 LF 275 Regrade Ditches on Ridgeley Drive Item Item Description Unit Quantity **Unit Price** Cost Clean, regrade, and resod existing ditch, complete in place, the sum of: 53.00 LF 500 26.5000 Culvert cleaning to match proposed ditch flowline elevations including disposal of material removed , complete in place, the sum of: HO.ON LF 200 Regrade Ditches on Pine Chase Drive Item Item Description Unit Quantity **Unit Price** Cost Clean, regrade, and resod existing ditch, complete in place, the sum of: LF 210 53.00 130.00 Culvert cleaning to match proposed ditch flowline elevations including disposal of material removed , complete in place, the sum of: LF 40 19 00 Regrade Ditches on Glourie Drive Item Item Description Unit Quantity **Unit Price** Clean, regrade, and resod existing ditch, complete in place, the sum of: LF 1,200 53.00 Culvert cleaning to match proposed ditch flowline elevations including disposal of material removed, complete in place, the sum of: 70010 LF 40.00 425 Regrade Ditches on Guinea Drive Item Item Description Unit Quantity **Unit Price** Cost Clean, regrade, and resod existing ditch, complete in place, the sum of: 9 LF 1,300 53.00 68,901.0 Culvert cleaning to match proposed ditch flowline elevations including disposal of material removed, complete in place, the sum of: 2044.0 40.00 LF 300 Regrade Ditches on Bromley Drive Item Item Description Unit Quantity **Unit Price** Cost 11 Clean, regrade, and resod existing ditch, complete in place, the sum of: LF 150 53.00 950.1 Culvert cleaning to match proposed ditch flowline elevations including disposal of material removed , complete in place, the sum of: 40.00 LF 60 Additional Culvert Cleaning Item Item Description Unit Unit Price Quantity Cost 8307 Creekstone Lane culvert cleaning to match proposed ditch flowline elevations including disposal of material removed , complete in place, the sum of: LF 60 1302 Friarcreek Lane culvert cleaning to match proposed ditch flowline elevations including disposal of material removed, complete in place, the sum of: 60 1007 Ridgeley Drive culvert cleaning to match proposed ditch flowline elevations including disposal of material removed , complete in place, the sum of: 400.0V LF 60 Supplemental Items Item Item Description Unit Quantity **Unit Price** Cost Cleaning and televising storm sewer at 1025 Glourie Circle, complete in place, the sum of: 16 1 300 00 EA 500 00 Cleaning and televising storm sewer at Hickory Shadows, complete in place, the sum of: EA TOTAL CONSTRUCTION COST

4 577,500.W